FR=CER 3 %5 (58 5 %:BR)

AFLRRARE B O ARLARE R

AMLOBEERORERETROEBYVAERLET,

SH24ET7H1 7H

Rl K &8 T
AFLFR g m AL
BT FRAC ARSI 4 0a i
BAFLH Sf247A15H
_%Eﬁ%(mﬁé) 7, 145, 000
it ﬁ%%‘f’%ﬁﬁ% ES5%) —
AR AR (Bith &) —
HYFERA HEER AR
ES AfLegE (FidhE) LA e

R = P F v AR

6, 800, O00H

BE ot HAE D YL o b
P B

6, 200, OO00H

Prrao—arPrg s rikEisrt
BRI

6, 950, 000M

A/ Az v v b ERaElEtE
BEEEER

7, 100; 000H

KHa N E o bR

7, 145, 0O00H

BEEGHD

LREHICHBB AU T EERICHEY T 282 ME LR B0 R LIALILE 8 TH S,



